Tutorial 2

Exercise 1

Let X = [0,1] with a,5 € R and let a,b € K. Define the fuzzy set 4 on X as
follows:

0,iffr<a—aorb+F<r

l,ifa<r<h

pA(z) = 4
l+r—ma, fa—a<zr<a

| 1-b—fz, ifbsz<b+f
Determine Ker(A), Supp(A) and H(A).

Exercise 2

Let X =41,2,3,...,10} and A a fuzzy subset of X given by:
A={<1,02> <205><308> <410><507> <603 > <

7,00 >, < 8,00 >,< 9,00 >, < 10,0.0 >}
Determine all c-cuts of A,

Exercise 3

Let A, B are two a fuzzy subset on a universe X and o, 3 € [0,1]
(1) if @ < 3, then A3 C A,

(2) (AnB)a=Aan B,
(3) (AUB)a =AUB,
Exercise 4

0, (z, 0,12
1. To(z.y) = (z,y) € [0,1]

min(r, y) otherwise.

2. Ti(r,y) =max(xr+y— 1,0).
3. is(r,y)=2—x —ryy + Y.
4. Ta(r.y) = zy.

5. Tas(r,y) = r + zyy — zy.

6. Ts(r, y) = min(x,y).

Show that we have: Th < TI < T < Te < Toe < Ty,



